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Part — 111 Time : 2% Hours
PHILOSOPHY Cool-off time : 20 Minutes

Maximum : 80 Scores

/ General Instructions to Candidates : \
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There is a ‘Cool-off time’ of 20 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.

Malayalam version of the questions is also provided.
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Answer all the questions from 1 to 4. Each carries 1 score. @x1=4)

1.  Find the odd one out.

(a) Ethics (b) Psychology
(c) Biology (d) Physics
2. Conception, judgement and are the three operations of human mind.

3. If ‘A’ isfalse, then ‘O’ is

4.  Find the contraries :

(a) TIandO (b) Eand O

(¢c) AandE (d AandlI

Answer any 4 questions from 5 to 12. Each carries 2 scores. 4x2=98)

5. The word logic is derived from the Greek word which means

6.  Write the sub-contrary of the given proposition.

‘Some exams are easy’

7. Every effect must have a cause :  This is the law of

This is the law of uniformity of nature
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1 2)®@3 4 AUHOWIBR af)L10 GaldBIEBUIGN)o POMOOAYI®)M. 1 ¢apod afloo.

(4x1=4)
B35GB GalQIDIND) HEENBOIN) .
(a) agoBNSHIY (b) @amM3UOaV(@o
() &lawooav@o (d) e»@aHu0rV(@o
DHENBOMValaud,  BWROAG af)Mlaioem  aflmaes  @an
(IR BTYMEBBUD.
‘A’ a) M@ O@QONEMINB ‘O’ af) M@’ @Y A)aM).
edalel Qfle)RLeIBUd (GBeMBSHITD) KHEOMBBTND:
(a) [-90 O-90 (b) E-90 O-Qo
(C) A-90 E-90 (d) A-90 [-90
5 mood 12 aeowss  caosimdled  ageoomsslene  MOLIgNODIMm
DANOAYL@} . 2 Ao afloro. 4x2=8)
ce102 B af)aM alBo ((Flee alBM® @3 adlam@oem” AIIgIBR®. G@IO]

@A®IN0 @1 HYAMN).

@GENAN DAGHAUIDEDNOMW (611960100 leu(B) DaleHalel allo)evo (aveni’

GHOMBSAN) af) 91

‘Some exams are easy’

af)elo @300 {OHIM)o 80} :  enoilem

006N A)eNE’ MRLIMO AG)AMN] AIOAM).

(IDHYTNMOS  Oaf)dhi0lal alae (3l crIo

83000 @EMIEanodlldl 80a0" MI2JB) ag)aM

aU1RLIMN AV AIOWYAN).
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10.

11.

12.

13.

14.

15.

16.

17.

18.

What is inductive leap ?

Define Causality.

What is Crucial Instance ?

Change the following proposition into the symbolic form.

‘Students are either hostlers or day scholars’

Write any two qualities of a good research.

Answer any 3 questions from 13 to 18. Each carries 3 scores. Bx3=9)

Name the three types of induction.

Which are the three postulates of induction ?

Write the difference between working hypothesis and barren hypothesis.

Differentiate between hypothesis, theory and law.

Identify the given truth function and construct the truth table of the same.

‘pand q’

What are the various uses of symbols in logic ? Explain.
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10.

11.

12.

13.

14.

15.

16.

17.

18.

@RYNAM H)OHla] (Dadawaglal eflai) agyamoen?
003006 MINWBTHO (€2:00V0e(gl) WBA2IMOo af)9)®)d>.
TBEMIW A, BaHSIMNo af)TNINENAN af)PI@))d.

al)010S  O@IS)EONTIEMIM  DBHHAUIBOTD (1INl SaHMB)  aflam
)0 IO LIOH) .

‘Students are either hostlers or day scholars’

30} MLJ NEAUUMTTIMENEIVGICHNTE aBODBILI0 OB IEMETBUB )9 YD) .

13 2@ 18 aleowas  casionglal  agomsslene  a)amemoila’
DONOHAYL®] . 3 ¢ afl®o. 3x3=9)

MAN Qo BRYNAMESBRIAS (NABWBHAT) CalH)OPIE .

@RUAMGTONG @AM @RSIAVOOM  AVBEIaBUB  (CaldAVQIERINIV  Bdaln’
EDABAW BaUB) aBODEJIOAAT) af)$) @)

(106U B al@l 3@ INW)o (o6l aenocaldoav) QUMWY
al@l @B 1IN0 (NIOMR HE0Ca |G TaV) ®enilenss a1lymPaLOAYIE)D:.

alBl&HeialM  (06a0Cald@Iadlay), avlevomoe (@lodl) dmlone (6e1d) agarial
@22lENSs QA1 PTVOAY)®)d.

®26¢ @AM A (AIUBTMo (SO aN6BaHM) aBO@AN G@lajdleo
@@oM K@l Alaiea|gld: (S} esmilud) aldealas)d.

‘pand q’

®BENNINV@EIN@  (ce1oedld) aflameng)es allollw®me  DalcWINEIBUD
af)OTNINSHWIEM ? AflUdBAIBE)D>.
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19.

20.

21.

22.

23.

24.

25.

26.

27.

Answer any 4 questions from 19 to 27. Each carries 4 scores.

Match the following :
‘A° ‘B
(1) Euler’s circle ) Antecedent
(2) Hypothetical proposition (i)  Copula
(3)  Universal negative (iii)  Distribution
(4) Proposition (iv)  E. Proposition

Explain the modern classification of propositions.

Differentiate between mediate and immediate inference.

Write the conversion and obversion of the following proposition.

‘All roses are red’

Draw the four figures of a categorical syllogism.

Define syllogism and name the two types of syllogism.

Aristotle identified four types of causation. Which are they ?

Name the four laws of thought.

Name the four types of dilemma.
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19.

20.

21.

22.

23.

24.

25.

26.

27.
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19 oao@ 27 000wss  cadindElal  o@E@BIENe  MOOLIGNOTIM

DAMANAE)M) . 4 GO afl@o. (4x4=16)

Gal®)oalS] GalBHe)d.

(1 A’ 6B’
(1) Euler’scircle () Antecedent
(2) Hypothetical proposition (ii)  Copula
(3)  Universal negative (iii)  Distribution
(4) Proposition (iv)  E. Proposition

®BLOAUOBETBBOS AWM AUBUSlBEeMo  (emocawend  GoaUlacleosauad)
aNlvoB@0EN) .

algaladl@amaome (dflafleg” nmdanomdav), @ealiladl@®Im@Imo (gneflaslog”
gDBaNOMBAV) af)aial @0l ENSS A1IMPAVOAP)®)H:.

21}018S O30T ENAN DBHNUIMDIETNOG aIBIIBGHMARC (HeNMdEaBauad)
(T AUBGTHMAo (B36NICAUBHAB) ag) ).

‘All roses are red’

Wlojalowld: MPOAINGOIIOG (209enIdleadd adlegeflave) ML d)alensud
(afln@) AUOVENB>.

MPOAIBIETM (Mflepioedlavo) afldalaIMen)ol ? EMEI®Ee MPWAIIMNGCINO
Gal)O9YD).

@RAIVEQISIA MR GOOTIENSS  HIOYBIVMENIMDEBUS  (CBHICAVIMT)
@A @2 FETTAGYNE. @RA! aBO@EIIAEN ?

MOEl 2 AT QVABBEIOS CalOOPI®)H:

MILI R0 HOAUHAEDBSIANS (WLLIN) CalOOPITND:.



Answer any 3 questions from 28 to 33. Each carries S scores. (B x5=15)

28.  Find the mood of the given syllogism and identify the minor term, major term, middle

term and conclusion.
All animals are carnivores
All tigers are animals
All tigers are carnivores
29. Give an account of any five uses of studying logic.
30. Write a short note on the steps of scientific method.
31. List out any 5 features of science.
32. Write a short essay on the stages of research.

33. Describe the major features of research.

Answer any 2 questions from 34 to 37. Each carries 6 scores. 2x6=12)

34. Prepare a chart showing the traditional classification of propositions.

35. Briefly explain the fallacies of observation.

36. Explain the opposition of proposition with the help of square of opposition.

37. Explain deduction and induction with examples.
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28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

28 2@ 33 Q100wss  Galdidlal  ago@Bilele  AINGNOTIM
DAMOHAL)@}h. S ¢apod afloro. (B3 x5=15)

21}010S OBIS)OINASNAN MPWAIBIETBENS (Mileejelave) allmyave (aw)
BOBO, aldH allo (HOAMAB €So), MVOWY alBo (GARA GSo), AWalBo,(Al@md
GSo), MladdhBakto (MBI 8) af)aTA af)9)®) .

All animals are carnivores

All tigers are animals

All tigers are carnivores

cR108 3 al0Mo MPlo DANBIG:)IM aBOMESIL10o @REI DalCWINEGIBUB af)$I@)dh.

oM (@ldla@es (TGladla, dacomaw) allafiw 2pI13aBa8E9)Mla] 80) e10el)
afla106mo Q0B .

UOOIV(@ATNO W aBO@EL1}o @O TVANCUHDDOB G160 S)OTN)H.
wealauemasilang allollw ce1gemBagen)dla) 60} L1°e1 CRIRIMe @QINIH)D:.

cnczmoaasm«msﬂmg (@1WomM AVANCUIH®B08 ANlIBIEE)H>.

34 o3 37 aeowEs  casmElal  ago®®slel  EeMBgNGITIM
DAMOHAY)@). 6 caPOd afl@o. 2x6=12)

®ASHAUIDOTNOM (62 106a10TVlas108) AVOMUBRIWB> AIBUTB:0eMo ((SWlaueN@3
HOMlafled8018) 306NN 21085 GQI0IN) M.

MBlBHMOTOL! E30auEBOSHNTa) (a0 Boan BMITVACUuR) el1ee)
aflaIoeMo @Q000H9) M.

QIODHOONAIOYELY  TVJald  al@EOTINONG  (MVMHQB  S%af0  Ba TUlaad)
AVAOIWEBNINS IBHNAUIDIETBBIANS AUIMY HOAUDYEL fo QNGB B>

dvamale  (AUWlWdeHm)  GRWAMAI  (NWBWEHHM)  OBINBMAVaGIG
NGB d.
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Answer any 2 questions from 38 to 41. Each carries 8 scores. 2x8=16)

38. Write down the definition of logic given by Creighton. Analyse it.

39. Write the meaning of the word observation and explain its characteristics.

40. Explain the distribution of terms with the help of Euler’s circles.

41. Explain the rules and fallacies of categorical syllogism.
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38 2)@03 41 Q00WEB8  CaBiEBSEI0d  ABOOBIE  OMBINOHIM

DOMOOA)®) . 8 cMoAd afloro. (2x8=16)

38. ae)(oe)gms @RLHUOTV@OTIM (102 Be) M@HVBLNMM @Al IMo af)$)o)

afllvodheiMo 6)a1Q))d.

39.  dfldlaemo af)aM aldoBO0d @RAMOeAYG] @RGEINNE VIO AVANEUDUDAUD

aNoIdla9)d.

40. S0VERINS ANEMEBBPS (WEBBIV CLABSNUE) TVAOIVWEBINIOS  alB6IRBIOS

afll®oeme 1 alltoBRHN)D:.

41, do)Iowld MPOAING BSOS TRABS)e CBAHBS ANAIGCIHN .
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